EARAROBEEIERT — 2 N— IBISH —F

201789A 120 (X) 13@£R2H

mvﬂw EIABHEHES A3 HY5R3% ‘ (%E] W ‘ (Esm] — | 4 (B) 14000 B
[AE4£] 1% :250,000” ~ 23#%&:57,000 M  33&:30,000” . 437&:22,000MH . 57&:15,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. FRRIYE) .30, o ) _ =ik (£2R)
1 D ht X i 3 &= 1(3_0)2 1-1-1-1 | 38.9 1 ;1+373; il
R:ZARN)—hE2R BTLF—4 =i =&
#AK— : -2-0- - RS (£R)
5 HAETFaATF it 3 i 1.(320).6 2-2-2-2 | 39.0 3 (4_225) ks
A1 agR—-5— B:T7AMLTE-ZX KBS
S N t 3 | el 1:31.9 3-3-3-3 |40.0| — 6 472 | BARR (£R)
3 YAXNT1FIX g 5.0 ®) © | @ Tr-xrEvar
:arFaAy b BOXRETFAXTAZ me =A
o N EFREA : —3-4— — £H—8 (£R)
A LT — L E ot — 3 a0 A IR 2| iy |mamE
R:A—-LILFL4A B4y aXE HE KR
NS IBIZET :33. —6-5- . — EERE (£R)
5 NoHL a1 i 3 e 1(333)1 7-6-5-5 | 40.4 4 (zﬁs) pens
LT RIA Y L—> B:F5F4IT &I -
S —_— B 3 | BRAA 1:33.8 9-9-9-8 [39.3| — 8 448 | BRI (£R)
6 JIZIZFvY #53.0° @ 6) @) J PN
R:Fh¥<7128 B:NLIH FEZX %Y K
NN FEEIBAA . -10-10- - £H—8 (£R)
IR R DT E I i 3 o 1.(324>.2 10-10-10-10{ 39.3 5 (4_715) et
VN =F v =L B:o—=XFA) BEFHS
07 S 4t 3 | EABARE 1:34.4 6-7-8-8 |40.3| — 9 438 | BEERZ (£R)
gl1]1 | T¥v¥>3 451.0 (11/2) Coy | W0 77-arEva>
L:70F—-v B¥rwy BN EE
“ # o3 | BRFBH 1:34.7 8-7-7-7 | 40.8| — 7 457 | RMEFE (£R)
9189 a2 /7)1y 5/8.0 (1 1/2) (-2) T(l?])k J P N#HE
g /od—d— Bz =—-X7)LY ERTITR 7N
_ R a4 -35. -5-6- 1| = INEEFIR (£iR)
10l5/ 5| 7L—F3U2>R i 3 BTk 1(365)9 4-5-6-6 | 43.1 10 (4_212) g
L:xrindO— B:xAJdIbToay b avEEKRASH AT Y3 TR
® 1—F—@EBIERL
1T=7r= 3,10,4,5,8,1,6,9,2,7
2a=5"= 3,10, (4,8),5,6,(1,9),2,7
Ja=5= 3,10,4,8,6,5,9,1,2,7
40—+ — 3,10,4,8,6,5,9,(1,2),7
[ N5
B 3 200M 714K 3-10 250 e E 3-8 700M JEE 3-4-10 1,260M
B B 3 130H4 3-4 560M e B 3-8 830M JEE 3-10-4 3,060/
10 1609 4-10 780M B & 3-10 520M
4 1909 B H 3-10 820

ABICOVWTRDTEEERROODE. TR LIV,




